Answer on Question#56908 - Math - Calculus
Divide. Use synthetic division, if possible.
(x*+ 6x3- x2-5x + 1)+ (x—2)
Divide. Use synthetic division, if possible.
(x3+ 9x2-5x + 11) + (x2 + 2)
Solution:
(x*+ 6x%- x2- 5x + 1) + (x — 2):

The synthetic division table is:

2 16 30 50

1 8 15 23

So we have . . .

r*+ bt — 1< —hr+1 . N ~
J“J' } HJ'E + 15z + 25 +
r—2 r—2

Explanation

Step 1 : Write down the coefficients of the polyvnomial p{x). Put the zero from z — 2 =10 |

x =2 ) at the left.

Step 2 : Bring down the leading coefficient to the bottom row.

2 1 E -1 -5 1

1

Step 3 : Multiply by the number on the left, and carry the result into the next column:
2:-1=2




Step 4 : Add down the column: 6+ 2 = 8

2 16 -1 -5 1

2

1 8
Step 5 1 Multiply by the number on the left, and carry the result into the next column:

2-8=16
2 16 -1 -5 1

1 8
Step 6 : Add down the column: —1 + 16 = 15

2 16 -1 -5 1

1 8 15
Step T:  Multiply by the number on the left, and carry the result into the next column:
2.15 =10
2 16 -1 -5 1
2 16 30

1 8 15
Step B 1 Add down the column: —5 + 30 = 25
2 16 -1 -5 1
2 16 30

1 8 15 20
Step 9 : Multiply by the number on the left, and carry the result into the next column:
2.25 =150
2 16 -1 -5 1
2 16 30 a0

1 8 15 25
Step 10 ¢ Add down the column: 1+ 50 = 51
2 1 6 -1 -5 1
2 16 30 &0

1 8 15 25 5l

Bottom line represents the polyvnomial quotient [1‘3 + 822 + 157 + 25] with a

remainder of 51,

(%3 + 9x%- 5x + 11) = (x? + 2):

The long division table is:



X o+ 9

3 2
32 + 2 x + 9x* - BEx + 11
x3 + 2 X
9x* - 7Tx + 11
9 x* + 18
- T7Tx - 7
So we have
x3+9x2—5x+11_ i —7x -7
x2 42 =X x2 42

Answer:

x*+ 6x3- x?>-5x + 1 5 5 51
=x>+8x“+15x+ 25+ ——
X — 2 X —2

x3 + 9x%- 5x + 11 i —7x -7
x2 + 2 X x2+2
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